240912.notebook September 12, 2024

We're ready for WP#1 #s 1 - 3, and the Bonus on the limit of a quadratic.

Crystal growth furnaces are used in research to determine how best to manufacture crystals used in electric components.
For proper growth of a crystal, the temperature must be controlled accurately by adjusting the input power. Suppose the
relationship is given by

T(w) = 0.1w? + 2.153w + 20, 1.7 #
where T is the temperature in degrees Celsius and w is the power input in watts.

(a) How much power is needed to maintain the temperature at 202°C? (Round your answer to two decimal places.)
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Recall the Factor Theorem?
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Practice Test has same time control. Same 2 guesses as Test 1.

So to use it for training, make sure you look at ALL the questions and take a crack at as
many as possible.

Practice Test does not affect your grade, except insofar as it helps you train.

One-Page, 2-sided cheat sheet is permitted on Test 1.

Scientific Calculator required. Graphing Calculator Forbidden.

No class on Monday, unless you have questions. Tuesday start Chapter 2.

A function f'is a rule that assigns to each x in a set called the domain a unique y in a set
called the range.

Domain = the set of all x such that f{x) is a real number.

Range = the set of all y such that y = f{x) for some x in the Domain.
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If a chicken crosses the road, it must cross the center line.

I—E 0 % combwsns w‘h" ach and (2> Ho)

C.n‘(‘s'
) (.'_‘.p L /s I)--J'\»UM -C'('&\d -p[b)\

o -C()»L.>£(5
J"‘i\. 3’:;/\'8 3 a € — (‘1.4‘) secl- %gLC{L\___L

The Big Application for the test is

Use the Intermediate Value Theorem to show that there is a root of the given equation in the specified interval.
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How close to —1 do we have to take x so that

1
(x + 1)°

is satisfied? (Give the largest possible value.)
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